IUBE ¢
* TERMINALE PASSAPARETE DIRITTO A ‘ = L
* BULKHEAD MALE CONNECTOR ‘ Ch 2
* GERADE SCHOTT- —
EINSCHRAUBVERSCHRAUBUNG ' Ch 3
* RACCORD PASSE-CLOISON DROIT b T
1D Ch 1
— M —

PART NUMBER TUBE @ M Ch1 Ch2 ch3 L1 L2 L3
PDM 061215LACA 6 M12X1,5 17 14 17 45 12 17
PDM 081215LACA 8 M12X1,5 17 17 19 42 12 17
PDM 081615LACA 8 M16X1,5 22 17 19 42 12 18
PDM 082215LACA 8 M22X1,5 27 17 19 42 12 20
PDM 101615LACA 10 M16X1,5 22 19 22 42 12 18
PDM 102215LACA 10 M22X1,5 27 19 22 42 12 20
PDM 121615LACA 12 M16X1,5 22 22 2% 45 12 20
PDM 122215LACA 12 M22X1,5 27 22 2% 45 12 20
PDM 152215LACA 15 M22X1,5 27 27 28 46 12 20
PDM 162215LACA 16 M22X1,5 27 27 28 46 12 20

=i Alre s o

L T "-ﬂ--:' T

NP A o
; .ﬂ-.- - .‘.'.1-1-. ., J.l. r |

- -y .
: R
: : :‘,aﬁ"m

-90-





